FM Algebra Ny Koy

Using Linear Systems WS#1 Date: Pd:

Solve each system using any method. Show all steps, circle your solution,
and check it with both equations after you have solved all three systems.

S"LP_Z_ e

Sten 3, SN
: {x—2y=_10®__> -2 =16 P 3@ U-d)egz-

4x+y=—4@-"—°3—> En 43y = -8 ~g 4y =
sip2! T4 = -I8 | y=9
Nz-R skt @ 2-20)7-10

Chell  -3-g:-10V

@ YD)+ 4= -y

B+y=-4 v
Sudion ! (3, 1)

Shpl!

2x-2y=5 O x2, Ch-Gu=15
“3x43y=TE L5 Lxt+by: 1y

s O =29
J? Always False — Polld Lines

S'feplf Sy 3 3 =7
Sx+6y=140 12y smreyr 12 e ;4:-(-;)):?
3x+5y=T0@ #Lads, isx +aasy=-35 a2 12

S#PJ.' _;5 = -?_ =Y
I shpu O st Hel) =0y
Chalt 20 4+(-6) = 14 v
@ 3D FEA): R
R+(-5) =4V



For each problem, write and solve a system of equations to find the price
of each item. Make sure you define your variables and answer in a )
complete sentence!

4, Two pairs of shoris and 2 tank-tops cost $91.
One pair of shorts and 3 tank-tops cost $80.50.
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5. Four hats and 4 scarves cost $72.
Three hats and 2 scarves cost $46.
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6. One belt and 2 sweaters cost $35.
Three belts and 1 sweater cost $55.
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P Three CDs and 2 DVDs cost $67.
Two CDs and 4 DVDs cost $90.
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